TECHNISCHE UNIVERSITÄT CHEMNITZ

Sequential Characterization of Some Efficient Solutions in Vector Optimization

R. I. Bot, A. Grad, G. Wanka

Preprint 2007-22



Sequential Characterization of Some Efficient Solutions in Vector Optimization

Radu Ioan Bot * Anca Grad † Gert Wanka ‡

Abstract. When characterizing optimal solutions of both scalar and vector optimization problems usually constraint qualifications have to be satisfied. By considering sequential characterizations, given for the first time in vector optimization in this paper, this drawback is eliminated. In order to establish them we give first of all sequential characterizations for a convex composed optimization problem with geometric and cone constraints. Then, by means of scalarization, we extend them to the vectorial case. For exemplification we particularize the characterization in the case of linear and set scalarization.

Key Words. convex vector optimization, scalarization, properly and weakly efficient solutions, sequential optimality conditions

AMS subject classification. 90C25, 90C29, 90C46, 49K99

1 Introduction

Vector optimization problems have received a great deal of interest from the scientific community due to their applicability in various practical areas. From the theoretical point of view comprehensive studies on the subject have been undertaken by numerous authors, among them we cite here the books of Jahn ([9]), Luc ([11]) and Sawaragi, Nakayama and Tanino ([15]). Due to the fact that the partial order generated by a convex cone in a topological vector space is not a complete one, several notions of solutions for a vector optimization problem have been given. In this article we will address some of them for which we give so-called sequential characterizations.

^{*}Faculty of Mathematics, Chemnitz University of Technology, D-09107 Chemnitz, Germany, e-mail: radu.bot@mathematik.tu-chemnitz.de

[†]Faculty of Mathematics and Computer Science, Babeş-Bolyai University, Cluj-Napoca, Romania, e-mail: dumitruanca@math.ubbcluj.ro

[‡]Faculty of Mathematics, Chemnitz University of Technology, D-09107 Chemnitz, Germany, e-mail: gert.wanka@mathematik.tu-chemnitz.de

In [2] and [3] Boţ, Csetnek and Wanka have given sequential optimality conditions in convex programming, without a constraint qualification, via perturbation approach, in a general framework. We consider here the convex composed optimization problem with geometric and cone constraints

$$(P_s) \inf_{\substack{x \in M \\ G(x) \in -C}} s(F(x)),$$

where X is a reflexive Banach space, Y and Z are Banach spaces partially ordered by the closed convex cones, K and C, respectively, M is a nonempty closed convex subset of X, $F: X \to Y^{\bullet} = Y \cup \{\infty_Y\}$ is a proper, K-convex, star K-lower semicontinuous function, $G: X \to Z^{\bullet} = Z \cup \{\infty_Z\}$ is a proper, C-convex, star C-lower semicontinuous function and $s: Y^{\bullet} \to \mathbb{R}$ is a proper, convex, lower semicontinuous and K-increasing function. Using the refined version of the sequential characterizations expressed by means of the classical subdifferential in [2], we deduce sequential characterizations for the optimal solutions of the problem (P_s) , with the help of an appropriate perturbation function. They are further particularized in the case when the functions involved are continuous. Then, by taking the cone $K = \{0\}$ we get improved sequential Lagrange multiplier conditions for the ordinary convex optimization problem with geometric and cone constraints

$$(P_c) \inf_{\substack{x \in M \\ G(x) \in -C}} s(x),$$

where $s: X \to \overline{\mathbb{R}}$ is a proper, convex and lower semicontinuous function.

Scalarization is probably the oldest and most studied method of characterizing optimal solutions in vector optimization. It consists in associating to a vector optimization problem a scalarized one such that making use of the solutions of the latter, one can obtain important information on the solutions of the original problem. The literature is quite rich in this respect, and we mention here several authors, such as Boţ [1], Jahn [8] and [9], Luc [11], Tammer and Göpfert [16], and the list could be continued.

A scalarized problem associated to the vector optimization problem

$$(P_v) \quad v - \min_{\substack{x \in M \\ G(x) \in -C}} F(x)$$

is actually of the form (P_s) . Having given S a set of scalarization functions we introduce the so-called S-properly efficient solutions and S-weakly efficient solutions for (P_v) and characterize them by making use of the sequential optimality conditions obtained for (P_s) . One can notice that each S-properly efficient solution to (P_v) is a (Pareto) efficient solution, while each S-weakly efficient solution to (P_v) is a weakly efficient one. We further particularize the sequential characterizations by taking S as a set of linear functions and as a set of K-strictly increasing function induced by a given cone, respectively.

Let us underline again the fact that this optimality conditions do not require the fulfillment of any constraint qualification.

This article is organized as follows. Section 2 contains the preliminary notions and results from convex analysis necessary to make this paper self-contained. Sequential optimality conditions for convex composed optimization problems with geometric and cone constraints are given in section 3. The general case when F and G are, among others, star K-lower semicontinuous and star C-lower semicontinuous, respectively, is treated. Then, they are taken continuous and this leads to general sequential characterizations. By taking $G \equiv 0$ we obtain sequential optimality conditions for composed geometric constrained optimization. In subsection 3.2 we obtain along with a particular case of a sequential Lagrange multiplier conditions, a sequential characterization of the well known Pshenichnyi-Rockafellar Lemma in [12], which improves Corollary 4.8 in [2] and thus also Corollary 3.5 in [10].

Section 4 contains the results for vector optimization. In its beginning the notions of the solution used are defined and the relation among them described. The sequential characterizations for S-properly efficient and S-weakly efficient solutions are given in the particular cases when the scalarizing function is linear, and when it is defined with the help of a given cone, respectively.

2 Preliminaries

Consider X a locally convex space and X^* its topological dual space endowed with an arbitrary locally convex topology giving X as dual. The most prominent examples of such a topology are the weak* topology $\omega(X^*,X)$ or the strong topology when X is a reflexive Banach space. We denote by $\langle x^*, x \rangle$ the value of the linear continuous functional $x^* \in X^*$ at $x \in X$. For a subset $M \subseteq X$, its indicator function, denoted by δ_M , is defined as $\delta_M : X \to \overline{\mathbb{R}} = \mathbb{R} \cup \{\pm \infty\}$

$$\delta_M(x) = \begin{cases} 0, & \text{if } x \in M, \\ +\infty, & \text{otherwise,} \end{cases}$$

and its support functional, denoted by σ_M , is defined as $\sigma_M: X^* \to \overline{\mathbb{R}}$

$$\sigma_M(x^*) = \sup_{x \in M} \langle x^*, x \rangle.$$

For a function $f: X \to \overline{\mathbb{R}}$ we denote by $\operatorname{dom}(f) = \{x \in X : f(x) < +\infty\}$ its domain and by $\operatorname{epi}(f) = \{(x,r) \in X \times \mathbb{R} : f(x) \leq r\}$ its epigraph. We call f proper if $\operatorname{dom}(f) \neq \operatorname{and} f(x) > -\infty \ \forall x \in X$. For $x \in X$ such that $f(x) \in \mathbb{R}$, the subdifferential of f at x is defined by

$$\partial f(x) = \{x^* \in X^* : f(y) - f(x) \ge \langle x^*, y - x \rangle \ \forall y \in X\}.$$

The normal cone to a closed subset M of X is defined by

$$N_M(x) := \begin{cases} \partial(\delta_M)(x) = \{x^* \in X^* : \langle x^*, y - x \rangle \le 0 \ \forall y \in M\}, & \text{if } x \in M, \\ \emptyset, & \text{otherwise.} \end{cases}$$

The conjugate function regarding the set $U \subseteq X$ of f is the function $f_U^*: X^* \to \overline{\mathbb{R}}$ defined by

 $f_U^*(x^*) = \sup_{x \in U} \{ \langle x^*, x \rangle - f(x) \}.$

When U = X we get the classical Fenchel-Moreau conjugate of f denoted by f^* . The so-called Young-Fenchel inequality proves to be extremely useful in applications, and it reads as follows

$$f^*(x^*) + f(x) \ge \langle x^*, x \rangle \ \forall x \in X \ \forall x^* \in X^*.$$

For all $x \in \text{dom}(f)$ and $x^* \in X^*$ one has

$$x^* \in \partial f(x) \iff f^*(x^*) + f(x) = \langle x^*, x \rangle$$

The conjugate function of f^* , $f^{**}: X \to \overline{\mathbb{R}}$, $f^{**}(x) = \sup_{x^* \in X^*} \{\langle x^*, x \rangle - f^*(x^*)\}$ is said to be the *biconjugate* of f. If f is a proper function one has that f is convex and lower semicontinuous if and only if $f^{**}(x) = f(x) \ \forall x \in X$.

In case X is a nonreflexive Banach space the biconjugate of f is defined as $f^{**}: X^{**} \to \overline{\mathbb{R}}, f^{**}(x^{**}) = \sup_{x^* \in X^*} \{\langle x^{**}, x^* \rangle - f^*(x^*) \}$. If $f: X \to \overline{\mathbb{R}}$ is a proper, convex and lower semicontinuous function, then for all $x \in X$ it holds $f(x) = f^{**}(\hat{x})$, where \hat{x} is the canonical image of x. One can easily show that the reverse is also true, namely if $f: X \to \overline{\mathbb{R}}$ is a proper function such that $f(x) = f^{**}(\hat{x}) \ \forall x \in X$, then f is convex and lower semicontinuous.

Having a non-empty cone $C \subseteq X$, we denote by $C^* = \{x^* \in X^* : \langle x^*, x \rangle \ge 0 \text{ for all } x \in C\}$ its dual cone, and by $C^{*0} = \{x^* \in X^* : \langle x^*, x \rangle > 0 \text{ for all } x \in C \setminus \{0\}\}$ the quasi-interior of the dual cone.

Definition 1 (see also [11]) Let $C \subseteq X$ be a nonempty convex cone. A function $s: X \to \overline{\mathbb{R}}$ is called C-increasing if for $x, y \in X$ such that $x \leq_C y$ it follows that $s(x) \leq s(y)$. A C-increasing function is called C-strongly increasing whenever $x \neq y$ implies s(x) < s(y). In the case when $\operatorname{int}(C) \neq \emptyset$ a C-increasing function is called C-strictly increasing if for $y - x \in \operatorname{int}(C)$ it holds s(x) < s(y).

There are notions given for functions with extended real values that can be extended also for function having their ranges in infinite dimensional spaces. Thus, let us consider Y a locally convex space partially ordered by the nonempty convex cone K, i.e the partial order \leq_K is defined by $x \leq_K y$ if $y - x \in K$ for all $x, y \in Y$. To Y we attach a greatest element with respect to \leq_K , which does not belong to Y, denoted by ∞_Y , and let us consider $Y^{\bullet} = Y \cup \{\infty_Y\}$. Then, for each

 $y \in Y^{\bullet}$, $y \leq_K \infty_Y$ and we consider on Y^{\bullet} the following operations: $y + \infty_Y = \infty_Y$ and $t \cdot \infty_Y = \infty_Y$ for all $y \in Y$ and all $t \geq 0$.

For a function $F: X \to Y^{\bullet}$ its *domain* is defined by $dom(F) = \{x \in X : F(x) \in Y\}$ and F is said to be *proper* if $dom(F) \neq \emptyset$. The most common extension of the classical notion of convexity for extended real valued functions is the notion of cone-convexity, thus, F is said to be K-convex if

$$F(tx + (1-t)y) \le_K tF(x) + (1-t)F(y) \ \forall x, y \in X \ \forall t \in [0,1].$$

For each $\lambda \in Y^*$ we consider the function $(\lambda F): X \to \overline{\mathbb{R}}$ defined by

$$(\lambda F)(x) = \begin{cases} \langle \lambda, F(x) \rangle, & \text{if } x \in \text{dom}(F) \\ +\infty & \text{otherwise.} \end{cases}$$

We say that F is $star\ K$ -lower semicontinuous if (λF) is lower semicontinuous for all $\lambda \in K^*$. Several other extensions of the notion of a lower semicontinuous function have been given in the past in the literature ([14], [11]), however the one given above fits our interests most of all.

3 Sequential Optimality Conditions for Convex Composed Optimization Problems with Geometric and Cone Constraints

The general framework used within this section is described in the following. Let us consider $(X, \|\cdot\|)$ a reflexive Banach space, $(Y, \|\cdot\|)$ and $(Z, \|\cdot\|)$ be Banach spaces, with $(X^*, \|\cdot\|_*)$, $(Y^*, \|\cdot\|_*)$, $(Z, \|\cdot\|_*)$, respectively, their topological dual spaces. Although the spaces X, Y, Z and X^*, Y^*, Z^* , are endowed with different norms, respectively, we use the same notation for the norm, as there will be no danger of confusion. Let $\{x_n^*: n \in \mathbb{N}\}$ be a sequence in X^* . We write $x_n^* \xrightarrow{\omega^*} 0$ $(x_n^* \xrightarrow{\|\cdot\|_*} 0)$ for the case when x_n^* converges to 0 in the weak* (strong) topology. We make the following convention: if in a certain property we write $x_n^* \to 0$ $(n \to +\infty)$, we understand that the property holds no matter which of the two topologies (weak* or strong) is used. The following property will be frequently used in the paper:

if
$$x_n^* \to 0$$
 and $x_n \to a$ $(n \to +\infty)$, then $\langle x_n^*, x_n \rangle \to 0$ $(n \to +\infty)$,

where $\{x_n : n \in \mathbb{N}\} \subseteq X$, $a \in X$ and $x_n \to a$ $(n \to +\infty)$ means $||x_n - a|| \to 0$ $(n \to +\infty)$, that is the convergence in the topology induced by the norm on X.

Furthermore, on Y and Z we consider the partial orders induces by the nonempty closed convex cones $K \subseteq Y$ and $C \subseteq Z$, respectively, denoted by \leq_K and \leq_C , respectively.

We are going to give sequential optimality conditions for the following convex composed optimization problem with geometric and cone constraints

$$(P_s) \inf_{\substack{x \in M \\ G(x) \in -C}} s(F(x)),$$

where M is a nonempty closed convex subset of X, $F: X \to Y^{\bullet}$ is a proper, K-convex, star K-lower semicontinuous function, $G: X \to Z^{\bullet}$ is a proper, C-convex, star C-lower semicontinuous function and $s: Y^{\bullet} \to \overline{\mathbb{R}}$ is a proper, convex, lower semicontinuous and K-increasing function, for which we make the convention that $s(\infty_Y) = +\infty$. Furthermore, the following feasibility condition is required

$$(FC) F(M \cap \operatorname{dom}(F) \cap G^{-1}(-C)) \cap \operatorname{dom}(s) \neq \emptyset.$$

Remark 1 One should notice that in the framework stated above, since s is K-increasing on Y, one has that $s^*(y^*) = +\infty$ for all $y^* \notin K^*$.

Recently, in [2] and [3], Boţ, Csetnek and Wanka have given sequential optimality conditions in convex optimization via perturbation approach improving several preexisting results. Such characterizations in optimization prove to be of major importance due to the fact that optimality conditions are given without requiring the fulfillment of any constraint qualification, the case encountered when dealing with optimality conditions obtained by other means, say for example by duality. We extend the results in [2] and [3] to the case of convex composed optimization problems with geometric and cone constraints rediscovering some of the results in the above mentioned papers as particular cases of the ones given here. Furthermore, they prove to be helpful in giving sequential characterizations of solutions for vector optimization problems. In section 5 of [2] the following theorem is given.

Theorem 1 Let $\Phi: X \times Y \to \overline{\mathbb{R}}$ be a proper convex and lower semicontinuous function such that $\inf_{x \in X} \Phi(x, 0) < +\infty$. The following statements are equivalent:

- a) $a \in dom(\Phi(\cdot, 0))$ is a minimizer of $\Phi(\cdot, 0)$ on X;
- b) there exist sequences $(x_n, y_n) \in \text{dom}(\Phi)$ and $(x_n^*, y_n^*) \in \partial \Phi(x_n, y_n)$ such that

$$x_n^* \to 0, x_n \to a, y_n \to 0, \langle y_n^*, y_n \rangle \to 0 \ (n \to \infty)$$

$$\Phi(x_n, y_n) - \Phi(a, 0) \to 0 \ (n \to +\infty).$$

We are going to rewrite (P_s) equivalently as

$$(P_0) \qquad \inf_{x \in X} \Phi(x, 0, 0),$$

where $\Phi: X \times Y \times Z \to \overline{\mathbb{R}}$ is the perturbation function

$$\Phi(x,y,z) = \left\{ \begin{array}{ll} s(F(x)+y), & \text{if } x \in M, G(x)-z \in -C, \\ +\infty, & \text{otherwise.} \end{array} \right.$$

In order to be able to apply Theorem 1 to (P_0) we first need to prove that Φ is a proper convex and lower semicontinuous function.

Lemma 2 The function Φ is proper, convex and lower semicontinuous.

Proof. Since the feasibility condition (FC) is satisfied, Φ is a proper function. We prove that $\Phi = \Phi^{**}|_{X \times \hat{Y} \times \hat{Z}}$, where \hat{Y} and \hat{Z} are the images of Y and Z through the canonical embedding into Y^{**} and Z^{**} , respectively. This will guarantee that Φ is convex and lower semicontinuous. We start by computing the conjugate function of Φ , $\Phi^*: X^* \times Y^* \times Z^* \to \overline{\mathbb{R}}$. For $(x^*, y^*, z^*) \in X^* \times Y^* \times Z^*$ we have

$$\Phi^*(x^*, y^*, z^*) = \sup_{\substack{x \in X, \ y \in Y, \\ z \in Z}} \{\langle x^*, x \rangle + \langle y^*, y \rangle + \langle z^*, z \rangle - \Phi(x, y, z)\}$$

$$= \sup_{\substack{x \in M, \ y \in Y, \\ z \in Z, \ G(x) - z \in -C}} \{\langle x^*, x \rangle + \langle y^*, y \rangle + \langle z^*, z \rangle - s(F(x) + y)\}.$$

Introducing the new variables $t:=F(x)+y\in Y$ and $q:=z-G(x)\in C$ we obtain

$$\Phi^*(x^*, y^*, z^*) = \sup_{\substack{x \in M, \ t \in Y, \\ q \in C}} \{\langle x^*, x \rangle + \langle y^*, t - F(x) \rangle + \langle z^*, q + G(x) \rangle - s(t)\}$$

$$= \sup_{x \in M} \{\langle x^*, x \rangle - (y^*F)(x) + (z^*G)(x)\} + \sup_{t \in Y} \{\langle y^*, t \rangle - s(t)\} + \sup_{q \in C} \{\langle z^*, q \rangle\}$$

$$= ((y^*F) - (z^*G) + \delta_M)^*(x^*) + s^*(y^*) + \sup_{q \in C} \langle z^*, q \rangle.$$

From Remark 1 we have $s^*(y^*) = +\infty$ for all $y^* \notin K^*$. Moreover

$$\sup_{q \in C} \langle z^*, q \rangle = \left\{ \begin{array}{ll} 0, & z^* \in -C^*, \\ +\infty, & \text{otherwise.} \end{array} \right.$$

Therefore,

$$\Phi^*(x^*, y^*, z^*) = \begin{cases} ((y^*F) - (z^*G) + \delta_M)^* (x^*) + s^*(y^*), & y^* \in K^*, z^* \in -C^*, \\ +\infty, & \text{otherwise.} \end{cases}$$

By calculating the value of the biconjugate function of Φ , $\Phi^{**}: X \times Y^{**} \times Z^{**} \to \overline{\mathbb{R}}$, on $(x, \hat{y}, \hat{z}) \in X \times Y^{**} \times Z^{**}$ for $(x, y, z) \in X \times Y \times Z$, one gets

$$\Phi^{**}(x, \hat{y}, \hat{z}) = \sup_{\substack{x^* \in X^*, \ y^* \in Y^*, \\ z^* \in Z^*}} \left\{ \langle x^*, x \rangle + \langle \hat{y}, y^* \rangle + \langle \hat{z}, z^* \rangle - \Phi^*(x^*, y^*, z^*) \right\} =$$

$$= \sup_{\substack{x^* \in X^*, \ y^* \in K^*, \\ z^* \in -C^*}} \left\{ \langle x^*, x \rangle + \langle y^*, y \rangle + \langle z^*, z \rangle - ((y^*F) - (z^*G) + \delta_M)^* (x^*) - s^*(y^*) \right\} =$$

$$= \sup_{\substack{y^* \in K^*, \\ z^* \in -C^*}} \left\{ \langle y^*, y \rangle + \langle z^*, z \rangle - s^*(y^*) + \sup_{x^* \in X^*} \left\{ \langle x^*, x \rangle - ((y^*F) - (z^*G) + \delta_M)^* (x^*) \right\} \right\}$$

$$= \sup_{\substack{y^* \in K^*, \\ z^* \in -C^*}} \left\{ \langle y^*, y \rangle + \langle z^*, z \rangle - s^*(y^*) + ((y^*F) - (z^*G) + \delta_M)^{**} (x) \right\}.$$

The functions F and G are proper, K-convex and star K-lower semicontinuous and proper, C-convex and star C-lower semicontinuous, respectively, therefore since $y^* \in K^*$ the function (y^*F) is proper, convex and lower semicontinuous and since $z^* \in -C^*$, $(-z^*G)$ is also proper, convex and lower semicontinuous. The same applies also for the function δ_M . Thus

$$((y^*F) + (-z^*G) + \delta_M)^{**}(x) = ((y^*F) + (-z^*G) + \delta_M)(x) \ \forall x \in X.$$

Using this we obtain that

$$\begin{split} \Phi^{**}(x,\hat{y},\hat{z}) &= \sup_{\substack{y^* \in K^* \\ z^* \in -C^*}} \left\{ \langle y^*,y \rangle + \langle z^*,z \rangle - s^*(y^*) + ((y^*F) + (-z^*G) + \delta_M) \, (x) \right\} = \\ &= \left\{ \begin{array}{l} \sup_{y^* \in Y^*} \left\{ \langle y^*, y + \widehat{F(x)} \rangle - s^*(y^*) \right\} + \sup_{z^* \in -C^*} \langle z^*, z - G(x) \rangle, & x \in M, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s^{**}(y + \widehat{F(x)}), & x \in M, z - G(x) \in C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ \\ &= \left\{ \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right. \\ \\ \left. \begin{array}{l} s(y + F(x)), & x \in M, G(x) - z \in -C, \\ +\infty, & \text{otherwise} \end{array} \right.$$

In conclusion $\Phi^{**}|_{X\times\hat{Y}\times\hat{Z}}=\Phi$ and this implies that Φ is convex and lower semicontinuous.

The following theorem gives sequential optimality conditions for (P_0) , which are actually optimality conditions for (P_s) .

Theorem 3 An element $a \in M \cap G^{-1}(-C) \cap \text{dom}(F)$ is an optimal solution of problem (P_s) if and only if

$$\begin{cases}
\exists (x_n, y_n, z_n) \in (M \cap \text{dom}(F)) \times \text{dom}(s) \times -C, \exists (x_n^*, y_n^*, z_n^*) \in X^* \times K^* \times C^*, \\
x_n^* \in \partial \left((y_n^* F) + (z_n^* G) + \delta_M \right) (x_n), y_n^* \in \partial s(y_n), \langle z_n^*, z_n \rangle = 0 \ \forall n \in \mathbb{N}, \\
x_n^* \to 0, x_n \to a, y_n - F(x_n) \to 0, z_n - G(x_n) \to 0, (n \to +\infty), \\
\langle y_n^*, y_n - F(a) \rangle - \langle z_n^*, G(a) \rangle \to 0, (n \to +\infty), \\
\langle y_n^*, F(x_n) - F(a) \rangle + \langle z_n^*, G(x_n) - G(a) \rangle \to 0, (n \to +\infty), \\
s(y_n) - s(F(a)) \to 0, (n \to +\infty).
\end{cases}$$
(1)

Proof. We notice first that Φ is a proper convex and lower semicontinuous function such that $\inf_{x\in X}\Phi(x,0,0)<+\infty$. By Theorem 1 and taking (FC) into consideration we have that $a\in M\cap G^{-1}(-C)\cap \operatorname{dom}(F)$ is an optimal solution of problem (P_s) if and only if it is also an optimal solution of (P_0) . So, a is an optimal solution of (P_s) if and only if there exist the sequences $(x_n,u_n,v_n)\in \operatorname{dom}(\Phi)$, $(x_n^*,u_n^*,-v_n^*)\in \partial\Phi(x_n,u_n,v_n)$ such that

$$x_n^* \to 0, x_n \to a, (u_n, v_n) \to 0, \langle (u_n^*, -v_n^*), (u_n, v_n) \rangle \to 0, (n \to +\infty)$$
 and
$$\Phi(x_n, u_n, v_n) - \Phi(a, 0, 0) \to 0, (n \to +\infty).$$

For all $n \in \mathbb{N}$ from $(x_n, u_n, v_n) \in \text{dom}(\Phi)$ we get that $x_n \in M \cap \text{dom}(F)$, $F(x_n) + u_n \in \text{dom}(s)$ and $G(x_n) - v_n \in -C$. For $(x_n^*, u_n^*, -v_n^*) \in \partial \Phi(x_n, u_n, v_n)$ we use the characterization

$$\Phi^*(x_n^*, u_n^*, -v_n^*) + \Phi(x_n, u_n, v_n) = \langle x_n^*, x_n \rangle + \langle u_n^*, u_n \rangle - \langle v_n^*, v_n \rangle.$$

Thus, for all $n \in \mathbb{N}$, we obtain equivalently that $u_n^* \in K^*, v_n^* \in C^*$ and

$$((u_n^* F) + (v_n^* G) + \delta_M)^* (x_n^*) + s^* (u_n^*) + s(F(x_n) + u_n) = \langle x_n^*, x \rangle + \langle u_n^*, u_n \rangle - \langle v_n^*, v_n \rangle.$$
(2)

As $v_n^* \in C^*$ and $G(x_n) - v_n \in -C$ we have $\langle v_n^*, G(x_n) - v_n \rangle \leq 0$. Using the Fenchel-Young inequality we also get $((u_n^*F) + (v_n^*G) + \delta_M)^*(x_n^*) \geq \langle x_n^*, x_n \rangle - (u_n^*F)(x_n) - \langle v_n^*G)(x_n) - \delta_M(x_n) \geq \langle x_n^*, x_n \rangle - (u_n^*F)(x_n) - \langle v_n^*, v_n \rangle$ and $s^*(u_n^*) + s(F(x_n) + u_n) \geq \langle u_n^*, u_n \rangle + (u_n^*F)(x_n) \ \forall n \in \mathbb{N}$. Thus, by (2) we obtain equality in all the inequalities above. Hence $(x_n^*, u_n^*, -v_n^*) \in \partial \Phi(x_n, u_n, v_n)$ is equivalent to $u_n^* \in K^*, v_n^* \in C^*, x_n^* \in \partial((u_n^*F) + (v_n^*G) + \delta_M)(x_n), u_n^* \in \partial s(F(x_n) + u_n)$ and $\langle v_n^*, G(x_n) - v_n \rangle = 0$. Consequently, $a \in M \cap G^{-1}(-C) \cap \text{dom}(F)$ is an optimal solution of problem (P_s) if and only if

$$\begin{cases}
\exists (x_n, u_n, v_n) \in (M \cap \text{dom}(F)) \times Y \times Z, \\
F(x_n) + u_n \in \text{dom}(s), G(x_n) - v_n \in -C, \\
\exists (x_n^*, u_n^*, v_n^*) \in X^* \times K^* \times C^*, x_n^* \in \partial \left((u_n^* F) + (v_n^* G) + \delta_M \right) (x_n), \\
u_n^* \in \partial s(F(x_n) + u_n), \langle v_n^*, G(x_n) - v_n \rangle = 0 \,\,\forall n \in \mathbb{N}, \\
x_n^* \to 0, x_n \to a, u_n \to 0, v_n \to 0, (n \to +\infty), \\
\langle u_n^*, u_n \rangle - \langle v_n^*, v_n \rangle \to 0, (n \to +\infty), \\
s(F(x_n) + u_n) - s(F(a)) \to 0, (n \to +\infty).
\end{cases} \tag{3}$$

Making the following notations: $y_n := F(x_n) + u_n$, $z_n := G(x_n) - v_n$, $y_n^* := u_n^*$, $z_n^* := v_n^*$ for all $n \in \mathbb{N}$, (3) becomes

$$\begin{cases}
\exists (x_n, y_n, z_n) \in (M \cap \text{dom}(F)) \times \text{dom}(s) \times -C, \exists (x_n^*, y_n^*, z_n^*) \in X^* \times K^* \times C^*, \\
x_n^* \in \partial \left((y_n^* F) + (z_n^* G) + \delta_M \right) (x_n), y_n^* \in \partial s(y_n), \langle z_n^*, z_n \rangle = 0 \ \forall n \in \mathbb{N}, \\
x_n^* \to 0, x_n \to a, y_n - F(x_n) \to 0, z_n - G(x_n) \to 0, (n \to +\infty), \\
\langle y_n^*, y_n - F(x_n) \rangle - \langle z_n^*, G(x_n) \rangle \to 0, (n \to +\infty), \\
s(y_n) - s(F(a)) \to 0, (n \to +\infty),
\end{cases}$$
(4)

Further, we improve the relations in (4), by proving that under the hypotheses

$$\begin{cases} (x_{n}, y_{n}, z_{n}) \in (M \cap \text{dom}(F)) \times \text{dom}(s) \times -C, (x_{n}^{*}, y_{n}^{*}, z_{n}^{*}) \in X^{*} \times K^{*} \times C^{*}, \\ x_{n}^{*} \in \partial ((y_{n}^{*}F) + (z_{n}^{*}G) + \delta_{M}) (x_{n}), y_{n}^{*} \in \partial s(y_{n}), \langle z_{n}^{*}, z_{n} \rangle = 0 \ \forall n \in \mathbb{N}, \\ x_{n}^{*} \to 0, x_{n} \to \dot{a}, y_{n} - F(x_{n}) \to 0, z_{n} - G(x_{n}) \to 0, (n \to +\infty), \\ s(y_{n}) - s(F(a)) \to 0, (n \to +\infty). \end{cases}$$
(5)

for the following three real sequences defined as:

$$b_n := \langle y_n^*, y_n - F(a) \rangle + \langle z_n^*, -G(a) \rangle \ \forall n \in \mathbb{N},$$
$$c_n := \langle y_n^*, F(x_n) - F(a) \rangle + \langle z_n^*, G(x_n) - G(a) \rangle \ \forall n \in \mathbb{N}$$

and

$$a_n := \langle y_n^*, y_n - F(x_n) \rangle - \langle z_n^*, G(x_n) \rangle = b_n - c_n \ \forall n \in \mathbb{N},$$

we have

$$a_n \to 0 \ (n \to +\infty)$$
 if and only if $b_n \to 0$ and $c_n \to 0 \ (n \to +\infty)$.

The sufficiency follows at once. Therefore, it remains to prove the necessity. Assume now that $a_n \to 0$. For all $n \in \mathbb{N}$, since $y_n^* \in \partial s(y_n)$, it holds $\langle y_n^*, y_n - F(a) \rangle \geq s(y_n) - s(F(a))$. From $G(a) \in -C$ and $z_n^* \in C^*$ we have $\langle z_n^*, -G(a) \rangle \geq 0$. Hence

$$b_n \ge s(y_n) - s(F(a)) + \langle z_n^*, -G(a) \rangle \ge s(y_n) - s(F(a)) \ \forall n \in \mathbb{N}.$$
 (6)

Furthermore,

$$-c_{n} = ((y_{n}^{*}F) + (z_{n}^{*}G))(a) - ((y_{n}^{*}F) + (z_{n}^{*}G))(x_{n})$$

$$= ((y_{n}^{*}F) + (z_{n}^{*}G) + \delta_{M})(a) - ((y_{n}^{*}F) + (z_{n}^{*}G) + \delta_{M})(x_{n}) \ge \langle x_{n}^{*}, a - x_{n} \rangle,$$
as $x_{n}^{*} \in \partial ((y_{n}^{*}F) + (z_{n}^{*}G) + \delta_{M})(x_{n}) \ \forall n \in \mathbb{N}.$ Thus,
$$-c_{n} \ge \langle x_{n}^{*}, a - x_{n} \rangle \ \forall n \in \mathbb{N}.$$
(7)

From (6) and (7) we get

$$s(y_n) - s(F(a)) \le b_n = a_n + c_n \le a_n + \langle x_n^*, x_n - a \rangle \ \forall n \in \mathbb{N}.$$
 (8)

For $n \to +\infty$, since $a_n \to 0$ and taking into consideration that, by (5), $s(y_n) - s(F(a)) \to 0$, and $x_n^* \to 0$ and $x_n - a \to 0$, which imply $\langle x_n^*, x_n - a \rangle \to 0$, we obtain from (8) that $b_n = a_n + c_n \to 0$ $(n \to +\infty)$ and thus also $c_n \to 0$ $(n \to +\infty)$.

Therefore (1) is equivalent to (4) and the theorem is proved.

Theorem 3 is stated under rather weak assumptions imposed on the sets and the functions involved in its formulation. By specializing some of these objects, we are able to obtain as particular cases some other important results we use later, but also sequential characterizations of optimality previously given in the literature.

3.1 The Case when F and G are Continuous

The framework we work within remains basically the same as in the beginning of this section. Imposing stronger conditions on the functions involved in defining the optimization problem (P_s) the sequential characterization of the optimal solutions in Theorem 3 can be substantially refined.

Take $F: X \to Y$ and $G: X \to Z$ continuous, thus dom(F) = dom(G) = X and the feasibility condition (FC) becomes

$$(FC_C) F(M \cap G^{-1}(-C)) \cap \operatorname{dom}(s) \neq \emptyset.$$

With these hypotheses we get the following result.

Theorem 4 An element $a \in M \cap G^{-1}(-C)$ is an optimal solution of problem (P_s) if and only if

$$\begin{cases}
\exists (x_n, y_n, z_n) \in M \times \operatorname{dom}(s) \times -C, \\
\exists (u_n^*, v_n^*, t_n^*, y_n^*, z_n^*) \in X^* \times X^* \times X^* \times X^* \times K^* \times C^*, \\
u_n^* \in \partial(y_n^* F)(x_n), v_n^* \in \partial(z_n^* G)(x_n), t_n^* \in N_M(x_n), y_n^* \in \partial s(y_n), \langle z_n^*, z_n \rangle = 0 \ \forall n \in \mathbb{N}, \\
u_n^* + v_n^* + t_n^* \to 0, x_n \to a, y_n \to F(a), z_n \to G(a), (n \to +\infty), \\
\langle y_n^*, y_n - F(a) \rangle - \langle z_n^*, G(a) \rangle \to 0, (n \to +\infty), \\
\langle y_n^*, F(x_n) - F(a) \rangle + \langle z_n^*, G(x_n) - G(a) \rangle \to 0, (n \to +\infty), \\
s(y_n) - s(F(a)) \to 0, (n \to +\infty).
\end{cases}$$
(9)

Proof. From Theorem 3 we have that $a \in M \cap G^{-1}(-C)$ is an optimal solution of problem (P_s) if and only if (1) is satisfied. Using Theorem 2.8.7 in [17], for each $n \in \mathbb{N}$, from the fact that F and G are continuous functions we have

$$\partial \left((y_n^* F) + (z_n^* G) + \delta_M \right) (x_n) = \partial (y_n^* F)(x_n) + \partial (z_n^* G)(x_n) + N_M(x_n).$$

Thus for all $x_n^* \in \partial \left((y_n^* F) + (z_n^* G) + \delta_M \right) (x_n), n \in \mathbb{N}$, taking into consideration the equality above, one obtains the existence of other three sequences such that $u_n^*, v_n^*, t_n^* \in X^*$ and

$$x_n^* = u_n^* + v_n^* + t_n^*, \ u_n^* \in \partial(y_n^* F)(x_n), \ v_n^* \in \partial(z_n^* G)(x_n), \ t_n^* \in N_M(x_n).$$

Since $x_n^* \to 0$, we have $u_n^* + v_n^* + t_n^* \to 0$, $(n \to +\infty)$. As F and G are continuous and $x_n \to a$ when $n \to +\infty$, it holds $F(x_n) \to F(a)$ and $G(x_n) \to G(a)$ when $n \to +\infty$. Then $y_n - F(x_n) \to 0$ and $z_n - G(x_n) \to 0$ is the same with

$$y_n \to F(a)$$
 and $z_n \to G(a), (n \to +\infty)$.

Changing in (1) the sequences according to the facts listed above, we obtain exactly (9). \blacksquare

3.2 The Case of a Convex Composed Optimization Problem with "only" Geometric Constraints

The aforementioned particular case can be further specialized when considering only geometric constrained problems, i.e in the case when the function $G\equiv 0$. In this situation we obtain the following result which is a natural consequence of Theorem 4, therefore its proof is omitted.

Corollary 5 An element $a \in M$ is an optimal solution of the optimization problem

$$(P_g) \quad \inf_{x \in M} s(F(x))$$

if and only if

$$\begin{cases}
\exists (x_{n}, y_{n}) \in M \times \text{dom}(s), \exists (u_{n}^{*}, t_{n}^{*}, y_{n}^{*}) \in X^{*} \times X^{*} \times K^{*}, \\
u_{n}^{*} \in \partial(y_{n}^{*}F)(x_{n}), t_{n}^{*} \in N_{M}(x_{n}), y_{n}^{*} \in \partial s(y_{n}) \,\,\forall n \in \mathbb{N}, \\
u_{n}^{*} + t_{n}^{*} \to 0, x_{n} \to a, y_{n} \to F(a), (n \to +\infty), \\
\langle y_{n}^{*}, y_{n} - F(a) \rangle \to 0, \langle y_{n}^{*}, F(x_{n}) - F(a) \rangle \to 0, (n \to +\infty), \\
s(y_{n}) - s(F(a)) \to 0, (n \to +\infty).
\end{cases} \tag{10}$$

3.3 Sequential Lagrange Multiplier Conditions

The convex composed optimization problem (P_s) can be reduced to an ordinary one, by taking X = Y, the function F as the identity function on X, i.e. $F: X \to X$, F(x) = x for all $x \in X$, and the cone $K = \{0\}$. Using again Theorem 4 we are able to develop sequential optimality conditions for the convex optimization problem with geometric and cone constraints

$$(P_c) \inf_{\substack{x \in M \\ G(x) \in -C}} s(x),$$

where $s:X\to \overline{\mathbb{R}}$ is a proper, convex and lower semicontinuous function, $G:X\to Z$ is a C-convex and continuous function and the feasibility condition

$$(FC_{CL})$$
 $M \cap G^{-1}(-C) \cap \text{dom}(s) \neq \emptyset$

is satisfied. Then the following sequential optimality conditions can be given.

Theorem 6 An element $a \in M \cap G^{-1}(-C) \cap \text{dom}(s)$ is a solution of the optimization problem (P_c) if and only if

$$\begin{cases}
\exists (x_n, y_n, z_n) \in M \times \operatorname{dom}(s) \times -C, \exists (v_n^*, t_n^*, y_n^*, z_n^*) \in X^* \times X^* \times X^* \times C^*, \\
v_n^* \in \partial(z_n^*G)(x_n), t_n^* \in N_M(x_n), y_n^* \in \partial s(y_n), \langle z_n^*, z_n \rangle = 0 \,\,\forall n \in \mathbb{N}, \\
y_n^* + v_n^* + t_n^* \to 0, x_n \to a, y_n \to a, z_n \to G(a), (n \to +\infty), \\
\langle y_n^*, y_n - a \rangle - \langle z_n^*, G(a) \rangle \to 0, (n \to +\infty), \\
\langle y_n^*, x_n - a \rangle + \langle z_n^*, G(x_n) - G(a) \rangle \to 0, (n \to +\infty), \\
s(y_n) - s(a) \to 0, (n \to +\infty).
\end{cases}$$
(11)

Proof. One can easily see that (P_c) is nothing but a particularization of (P_s) . Since $K = \{0\}$ its dual is $K^* = X^*$ and s is K-increasing. Using Theorem 4 we have that $a \in M \cap G^{-1}(-C) \cap \text{dom}(s)$ is a solution of (P_c) if and only if (9) holds. Since F is the identity on X and $u_n^* \in \partial(y_n^*F)(x_n)$ it is easy to see that $u_n^* = y_n^*$ for all $n \in \mathbb{N}$, i.e. (9) becomes (11).

Let us mention that Theorem 6 is in fact an improvement of the sequential Lagrange multiplier condition in Theorem 4.10 in [2].

A sequential generalization of the well-known Pshenichnyi-Rockafellar Lemma can be given, by taking in Theorem 6 only geometric constraints. It is stated bellow.

Theorem 7 Let $s: X \to \overline{\mathbb{R}}$ be a proper, convex and lower semicontinuous function such that $M \cap \text{dom}(s) \neq \emptyset$. Then $a \in M \cap \text{dom}(s)$ is an optimal solution of the problem

$$(P_{PR}) \quad \inf_{x \in M} s(x)$$

if and only if

$$\begin{cases}
\exists (x_n, y_n) \in M \times \operatorname{dom}(s), \exists (t_n^*, y_n^*,) \in X^* \times X^*, \\
y_n^* \in \partial s(y_n), t_n^* \in N_M(x_n) \ \forall n \in \mathbb{N}, \\
y_n^* + t_n^* \to 0, x_n \to a, y_n \to a, (n \to +\infty), \\
\langle y_n^*, y_n - a \rangle \to 0, \langle y_n^*, x_n - a \rangle \to 0, (n \to +\infty), \\
s(y_n) - s(a) \to 0, (n \to +\infty).
\end{cases} \tag{12}$$

Proof. Problem (P_{PR}) is nothing else than (P_c) when $G \equiv 0$. Relation (12) is nothing else than (11) in Theorem 6 in this particular case.

Theorem 7 is also a refinement of Corollary 4.8 in [2] and thus of Corollary 3.5 in [10].

4 Sequential Optimality Conditions in Vector Optimization

Vector optimization problems are thoroughly studied due to their utility in various practical areas. In the literature, several approaches in defining and studying optimal solutions of a vector optimization problems have been undertaken.

Let us consider the following vector optimization problem

$$(P_v) \quad v - \min_{\substack{x \in M \\ G(x) \in -C}} F(x)$$

where X is a reflexive Banach space, Y and Z are Banach spaces, $K \subseteq Y$ and $C \subseteq Z$ are closed convex cones which define partial orders on Y and Z denoted

by \leq_K and \leq_C , respectively. We also assume that K is pointed $(K \cap -K = \{0\})$. Let M be a nonempty closed convex subset of X, $F: X \to Y$ be a K-convex continuous function and $G: X \to Z$ be a K-convex continuous function such that the following feasibility condition is satisfied

$$M \cap G^{-1}(-C) \neq \emptyset$$
.

Definition 2 (see [9]) An element $a \in M \cap G^{-1}(-C)$ is called a (Pareto) efficient solution to (P_v) if from $F(x) \leq_K F(a)$ for an $x \in M \cap G^{-1}(-C)$ it follows that F(x) = F(a).

Let us consider the set of convex and K-strongly increasing functions on Y

 $S = \{s : Y \to \mathbb{R} : s \text{ is convex and } K\text{-strongly increasing}\}.$

Definition 3 (see [6], [7]) An element $a \in M \cap G^{-1}(-C)$ is said to be a S-properly efficient solution to (P_v) if there exists a function $s \in S$ such that $s(F(a)) \leq s(F(x))$ for all $x \in M \cap G^{-1}(-C)$, i.e. if it is an optimal solution of the problem

 $(P_s) \inf_{\substack{x \in M \\ G(x) \in -C}} s(F(x)).$

Remark 2 Each S-properly efficient solution to (P_v) is also an efficient one.

If $\operatorname{int}(K) \neq \emptyset$ one can also introduce another efficiency notion, the so-called weakly efficient solution.

Definition 4 (see [9]) An element $a \in M \cap G^{-1}(-C)$ is said to be a weakly efficient solution to (P_v) if there exists no $x \in M \cap G^{-1}(-C)$ such that $F(x) - F(a) \in -\operatorname{int}(K)$.

Considering the set of convex and K-strictly increasing functions on Y

 $T = \{s : Y \to \mathbb{R} : s \text{ is convex and } K\text{-strictly increasing}\},\$

one can define the following new class of efficient solutions.

Definition 5 An element $a \in M \cap G^{-1}(-C)$ is said to be a T-weakly efficient solution to (P_v) if there exists a function $s \in T$ such that $s(F(a)) \leq s(F(x))$ for all $x \in M \cap G^{-1}(-C)$, i.e. if it is an optimal solution of the problem (P_s) .

Remark 3 An easy consequence of the last definition is that each T-weakly efficient solution to (P_v) is also a weakly efficient one.

Using the results from the previous section we can give sequential optimality conditions for both S-properly and T-weakly efficient solutions to (P_v) . One must acknowledge the fact that such conditions hold without any other constraint qualification, therefore they represent an improvement for the optimality conditions given so far in the literature (see [4]). They can also be stated in the case when the functions F and G are only star K-lower semicontinuous, star C-lower semicontinuous, respectively, but for the simplicity of the presentation we have chosen to express them in the continuous case.

Sequential characterization of optimal solutions for problem (P_s) have already been given in Theorem 4. Since they look identical both for S-properly efficient solutions and T-weakly efficient solutions, the only difference being that for the first one the function s is K-strongly increasing while for the second the function is K-strictly increasing, they are not repeated here at this point. Nevertheless, in the following subsections we give two particular cases by specializing the scalarizing function. For them, we state explicitly the sequential optimality conditions.

It is worth to mention that our theory can be applied to a wider area of scalarizing functions. Nevertheless, we restrict ourselves to the afore mentioned particular cases since besides being representative they also suffice as examples of obtaining sequential optimality conditions for vector optimization by means of scalarization.

4.1 Linear Scalarization

The most famous and used scalarization in vector optimization is the one with K-strongly increasing linear functionals. Let us start by noticing that for each $\lambda \in K^{*0}$ the function $s_{\lambda}: Y \to \mathbb{R}$ defined by

$$s_{\lambda}(y) = \langle \lambda, y \rangle \ \forall y \in Y$$

is K-strongly increasing, continuous and convex. Then, considering the set

$$S_l = \{s_{\lambda}: Y \to \mathbb{R}: s_{\lambda}(y) = \langle \lambda, y \rangle \ \forall y \in Y, \lambda \in K^{*0} \},$$

an element $a \in M \cap G^{-1}(-C)$ is a S_l -properly efficient solution to (P_v) if there exists a $\lambda \in K^{*0}$ such that $\langle \lambda, F(a) \rangle \leq \langle \lambda, F(y) \rangle$ for all $y \in M \cap G^{-1}(-C)$. The following sequential optimality condition can be given.

Theorem 8 An element $a \in M \cap G^{-1}(-C)$ is a S_l - properly efficient solution to (P_v) if and only if there exists a $\lambda \in K^{*0}$ such that

$$\begin{cases}
\exists (x_n, y_n, z_n) \in M \times Y \times -C, \exists (u_n^*, v_n^*, t_n^*, z_n^*) \in X^* \times X^* \times X^* \times C^*, \\
u_n^* \in \partial(\lambda F)(x_n), v_n^* \in \partial(z_n^* G)(x_n), t_n^* \in N_M(x_n), \langle z_n^*, z_n \rangle = 0 \ \forall n \in \mathbb{N}, \\
u_n^* + v_n^* + t_n^* \to 0, x_n \to a, y_n \to F(a), z_n \to G(a), (n \to +\infty), \\
\langle z_n^*, G(a) \rangle \to 0, \langle z_n^*, G(x_n) \rangle \to 0, (n \to +\infty).
\end{cases} (13)$$

Proof. An element $a \in M \cap G^{-1}(-C)$ is a S_l -properly efficient solution to (P_v) if and only if there exists a $\lambda \in K^{*0}$ such that it is an optimal solution to the problem

 $(P_{\lambda}) \inf_{\substack{x \in M \\ G(x) \in -C}} \langle \lambda, F(x) \rangle,$

which is nothing but a reformulation of problem (P_s) in this framework. Since all the function involved are continuous and s_{λ} is K-increasing, we can use Theorem 4 where the sequential characterization of the optimal solutions is given by system (9). Due to the particular form of s_{λ} the following changes are made. First of all $\text{dom}(s_{\lambda}) = Y$ while $y_n^* \in \partial s_{\lambda}(y_n)$ means actually that $y_n^* = \lambda$ for all $n \in \mathbb{N}$. By replacing y_n^* with λ in (9) we obtain exactly (13), taking also into account that s_{λ} and F are continuous, and $y_n \to F(a)$ for $n \to \infty$, thus becoming superfluous for us to write the conditions $s_{\lambda}(y_n) - s_{\lambda}(F(a)) \to 0$, $\langle \lambda, y_n - F(a) \rangle \to 0$ and $\langle \lambda, F(x_n) - F(a) \rangle \to 0$.

4.2 Set Scalarization

Some quite recent scalarization methods are based on already given or constructed sets which have to satisfy some conditions. The scalarization functions we use in the following are inspired from Gerth and Weidner [5].

To the general framework from the beginning of the section we add the assumption that the convex closed cone K fulfills $\operatorname{int}(K) \neq \emptyset$. For each $\mu \in \operatorname{int}(K)$ we consider the function

$$s_{\mu}: Y \to \mathbb{R}, s_{\mu}(y) = \inf\{t \in \mathbb{R}: y \in t\mu - K\},$$

which is K-strictly increasing, convex and continuous, according to [5]. Let us consider the following set of K-strictly increasing, convex and continuous functions

$$T_s = \{ s_{\mu} : \mu \in \text{int}(K) \}.$$

Then an element $a \in M \cap G^{-1}(-C)$ is a T_s -weakly efficient solution to (P_v) if there exists a $\mu \in \text{int}(K)$ such that a is an optimal solution to problem

$$(P_{\mu}) \inf_{\substack{x \in M \\ G(x) \in -C}} s_{\mu}(F(x)).$$

The following sequential characterization of T_s -weakly efficient solutions can be given.

Theorem 9 An element $a \in M \cap G^{-1}(-C)$ is a T_s -weakly efficient solution to (P_v) if and only if there exists a $\mu \in \operatorname{int}(K)$ such that

$$\begin{cases}
\exists (x_n, y_n, z_n) \in M \times Y \times -C, \exists (u_n^*, v_n^*, t_n^*, y_n^*, z_n^*) \in X^* \times X^* \times X^* \times K^* \times C^*, \\
u_n^* \in \partial(y_n^* F)(x_n), v_n^* \in \partial(z_n^* G)(x_n), t_n^* \in N_M(x_n), \langle z_n^*, z_n \rangle = 0, \\
\langle y_n^*, \mu \rangle = 1, \sigma_{\{\lambda \in K^*: \langle \lambda, \mu \rangle = 1\}}(y_n) = \langle y_n^*, y_n \rangle \,\,\forall n \in \mathbb{N} \\
u_n^* + v_n^* + t_n^* \to 0, x_n \to a, y_n \to F(a), z_n \to G(a), (n \to +\infty), \\
\langle y_n^*, y_n - F(a) \rangle - \langle z_n^*, G(a) \rangle \to 0, (n \to +\infty), \\
\langle y_n^*, F(x_n) - F(a) \rangle + \langle z_n^*, G(x_n) - G(a) \rangle \to 0, (n \to +\infty).
\end{cases} \tag{14}$$

Proof. For $\mu \in \text{int}(K)$ problem (P_{μ}) is nothing but a reformulation of problem (P_s) in this particular framework. From Theorem 4 we know that a is an optimal solution of (P_{μ}) if and only if (9) holds. In order to be able to reexpress it, we need to establish the conjugate of s_{μ} , $s_{\mu}^*: Y^* \to \overline{\mathbb{R}}$. For each $y^* \in K^*$ one has

$$\begin{split} s^*_{\mu}(y^*) &= \sup_{y \in Y} \left\{ \langle y^*, y \rangle - \inf_{\substack{t \in \mathbb{R} \\ y \in t\mu - K}} t \right\} = \sup_{\substack{t \in \mathbb{R} \\ y \in t\mu - K}} \left\{ \langle y^*, y \rangle - t \right\} = \\ &= \sup_{t \in \mathbb{R}} \left\{ -t + \sup_{u \in -K} \langle y^*, u + t\mu \rangle \right\} = \sup_{t \in \mathbb{R}} \left\{ t(\langle y^*, \mu \rangle - 1) \right\} + \sup_{u \in -K} \langle y^*, u \rangle = \\ &= \left\{ \begin{array}{l} 0, & \langle y^*, \mu \rangle = 1 \\ +\infty, & \text{otherwise.} \end{array} \right. \end{split}$$

Thus, for $y_n \in Y$ and $y_n^* \in K^*$, $y_n^* \in \partial s_{\mu}(y_n)$ is equivalent to

$$\langle y_n^*, \mu \rangle = 1 \text{ and } \inf_{t \in \mathbb{R}, y_n \in t\mu - K} t = \langle y_n^*, y_n \rangle \ \forall n \in \mathbb{N}.$$
 (15)

The above expression can be further refined thus obtaining a more interesting formulation of it. Let $y_n \in Y, n \in \mathbb{N}$, be fixed. Since $\mu \in \text{int}(K)$ it is easy to verify the Slater condition for the optimization problem

$$(P_I) \inf_{t \in \mathbb{R}, y_n - t\mu \in -K} t,$$

i.e. there exists $t' \in \mathbb{R}$ such that $t'\mu - y_n \in \text{int}(K)$. Thus, strong duality holds between (P_I) and its Lagrange dual problem. Therefore

$$\inf_{t \in \mathbb{R}, y_n \in t\mu - K} t = \sup_{\lambda \in K^*} \inf_{t \in \mathbb{R}} \{ t + \langle \lambda, y_n - t\mu \rangle \} = \sup_{\lambda \in K^*} \left\{ \langle \lambda, y_n \rangle + \inf_{t \in \mathbb{R}} \{ t - \langle \lambda, t\mu \rangle \} \right\} =$$

$$= \sup_{\lambda \in K^*, \langle \lambda, \mu \rangle = 1} \langle \lambda, y_n \rangle = \sigma_{\{\lambda \in K^*, \langle \lambda, \mu \rangle = 1\}} (y_n). \tag{16}$$

From (15) and (16) we obtain that, for $y_n \in Y$ and $y_n^* \in K^*$, $y_n^* \in \partial s_{\mu}(y_n)$ if and only if

$$\langle y_n^*, \mu \rangle = 1$$
 and $\sigma_{\{\lambda \in K^*, \langle \lambda, \mu \rangle = 1\}}(y_n) = \langle y_n^*, y_n \rangle \ \forall n \in \mathbb{N}.$

Taking into account that s_{μ} is continuous and $y_n \to F(a)$ for all $n \to \infty$, it is superfluous to write the condition $s_{\mu}(y_n) - s_{\mu}(F(a)) \to 0$. By replacing in (9) everything according to the discussion above, we obtain exactly (14).

References

- [1] Boţ, R.I. (2003): Duality and Optimality in Multiobjective Optimization, Phd Thesis, Chemnitz University of Technology.
- [2] Boţ, R. I., Csetnek, E. R., Wanka, G. (2008): Sequential Optimality Conditions in Convex Programming via Perturbation Approach, Journal of Convex Analysis 15(1).
- [3] Boţ, R.I., Csetnek, E.R., Wanka, G. (2007): Sequential Optimality Conditions for Composed Convex Optimization Problems, Preprint 12/2007, Faculty of Mathematics, Chemnitz University of Technology.
- [4] Bot, R.I., Grad, S.M, Wanka, G. (2007): A General Approach for Studying Duality in Multiobjective Optimization, Mathematical Methods of Operations Research (ZOR) 65(3), 417-444.
- [5] Gerth, C., Weidner, P. (1990): Nonconvex Separation Theorems and Some Applications in Vector Optimization, Journal of Optimization Theory and Applications 67(2), 297-320.
- [6] Gerstewitz, C. (1983): Nichkonvexe Dualität in der Vektoroptimierung, Wissenschaftliche Zeitschrift der Technischen Hochschule "Carl Schorlemmer", Leuna-Meserburg 25(3), 357-364.
- [7] Göpfert, A., Gerth, C. (1986): Über die Skalarisierung und Dualisierung von Vektoroptimierungsproblemen, Zeitschrift für Analysis und Anwendungen 5(4), 377-384.
- [8] Jahn, J. (1984): Scalarization in Vector Optimization, Mathematical Programming 29(2), 203-218.
- [9] Jahn, J. (2004): Vector Optimization Theory, Applications, and Extensions, Springer, Berlin Heidelberg New York.
- [10] Jeyakumar, V., Wu, Z.Y. (2006): A Qualification Free Sequential Pshenichnyi - Rockafellar Lemma and Convex Semidefinite Programming, Journal of Convex Analysis 13(3-4), 773-784.
- [11] Luc, D.T. (1989): Theory of Vector Optimization, Lecture Notes in Economics and Mathematical Systems, Vol. 319, Springer, Berlin Heildelberg New York.

- [12] Pshenichnyi, B.N. (1971): Necessary Conditions for an Extremum, Marcel Dekker, New York.
- [13] Rubinov, A.M., Gasimov, R.N. (2004): Scalarization and Nonlinear Scalar Duality for Vector Optimization with Preferences that are not Necessarily a Pre-Oder Relation, Journal of Global Optimization 29(4), 455-477.
- [14] Penot, J.P., Théra, M. (1982): Semi-Continuous Mappings in General Topology, Archiv der Mathematik 38, 158-166.
- [15] Sawaragi, Y., Nakayama, H., Tanino, T. (1985): Theory of Multiobjective Optimization, Mathematics in Science and Engineering, Vol. 176, Academic Press, Orlando.
- [16] Tammer, C., Göpfert, A.(2002): Theory of Vector Optimization In: Ehrgott, M., Gandibleux, X. (Eds), Multiple Criteria Optimization: State of the Art Annoted Bibliographic Surveys. International Series in Operations Research and Management Science, Vol. 25, Kluwer, Boston, 1-70.
- [17] Zãlinescu, C.(2002): Convex Analysis in General Vector Spaces, World Scientific, Singapore.